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1. The table below gives the correct answer for each multiple-choice question in this test
across version 1. All 4 versions have the same order of questions, hence this can be used
for other versions too.

2. If you are evaluating these questions on paper, please award the student 1 mark for
choosing the right option for each question.

Q.No Correct Answers - Version 1
1 D
2 B
3 D
4 C
5 A
6 D
7 A
8 A
9 B
10 A
11 A
12 C
13 B
14 C
15 A
16 A
17 D
18 D
19 D
20 C
21 B
22 B
23 C
24 B
25 A
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Q.No What to look for Marks
26 | TWYgaEq 1

1) YT FEIAT (IATTRTF ST o Ih hddl [AYI-Tagy Jui-faade) [0.25]

2) Afeirdr (FoiaTcASdT & AT FHTTYUT HIST dUT SG=I-2Tell I TATHTAS ®T o
GINT &) [0.25]

3) quiar (BfAT ersel 7 fawa & @iy ualt s TfSd e [0.25]
4) As-HIAT T TTefet [0.25]
& AUES & fow Q¥ 3@ ¢ afg & a5 e v g @i

g AES & fAT 3T 37 & IS &) 918 ST F GUR T 3H1GIHhdT ¢
& ATIEE & AT o 3k & IR & 18 38T erper gl 7€F &l &

gEdfa 0.5

1) SASCYAT (TTaRT T HAGGY U9 dhderd [afsr & were &) [0.25]

2) fAHT aUT TSRy &1 gl [0.25]

g ATIES & oI QU 37 & Ife &1 15 &¢I g & |
g AIYES & Taw e 3 & Ffe &) 918 3798T3HT F UR I ITaIehdr gl
g ATIGS & AT e 31 ¢ afg & 13 39amt foeager ot ST aidr 2

HISTS 2[Eerar 0.5
1) SITHRIUT (STTRIOT FFAT AT TUT fare et & 3faa g3 [0.25]

2) I (AT I Y adedr ST FAMeT) [0.25]

W 3 ¢ g AT AR adel S fAR dhaer 1-2 It 2
MY 37 & I SATRIOT AR aclsll &l fAerme 3-5 3fear &
AT 37 ¢ IfE cAraRtoT AR adelr & fAemet 5 @ HfUw Ifear g
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Q.No What to look for Marks

27 1l

e
Hioaer 99 & |ir 3501 AT e

(1) &=t ta fawg-deha [0.25]

(2) 9N T g [0.25]

(3) wTCRdr &I IaT [0.25]

(4) TEYST U A [0.25] &X AMEs & fov Q¥ 31 & afe & a1 3m9emd g
gicil 81

g AI9ES & ToIv 3Ter 37 & Ife &) 9715 98T & UR ol ITaRIehdT gl

& AGS & fov o 3 & afg & a1 eV foagper o w7€r g 2

IEARELSSI 1

(1) O HERIAT (3TTaTH d1cd of Fleh dhadl [ANI-HaGY JuleI-faade) [0.25]
(2) | 3791 ST HEY HH FlATRTT T [0.25]

(3) fFeT TUT fAshy & g [0.25]

(4) AU (TTIRT FI FAGEY Ud Thddd AT & Jehe &) [0.25]

& AMEs & fov X 3 ¢ Ife & 915 3196T¢ I gl &
& AES & faTw 3 3 & Ifg & 919 3r9aT3t A gur A 37T g
&Y AIUES & AU g 37 & I &) a1$ 3en? ool g w1t &l &

TS el 1

(1) SATHIVT (SATHIVT FFAT 9T d47 faRTeT Reat 1 3R=a w23 [0.5]

(2) AT (sET FT Y Tttt @ AW [0.5] W 3 & Afg camaor 3R adelr &
fAeme haar 1-2 e 81

MY 37k & TG AThIOT 3R adelt At 3-5 Jiear gl

T 3 & G o R adel 1 fAemeR 5 @ 3ife e &

End of Questions in Paper




